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Primary Division: Problems |

Jack and Kylie are playing a game of table tennis. If Jack loses this game, he will have won the
same number of games as Kylie. If Jack wins the game, he will have won twice as many games as
Kylie.

How many games had each won before they started this game?

Explain your reasoning.

Three friends visit amuseum and walk up aflight of stairs.

Ross goes up one step at atime starting with hisleft foot on the first step. Sheila goes up two steps
at atime starting with her left foot on the second step and Tom starts with his left foot on the third
step and goes up three steps at atime.

Investigate these questions and explain your answers.

(&) Which isthefirst step that all three will tread on?

(b) Which isthe first step that al three will tread on with their right foot?
(c) Whichisthefirst step that all three will tread on with their left foot?

A group of boys found a chestnut tree with the chestnuts just ready for picking. One of the boys
climbed the tree and was able to knock down some chestnuts. He had just enough to give himself
and the other boys three chestnuts each, with none left over. Then three of their friends joined
them. They found that it was not possible to share the chestnuts evenly among the group.

However, when one more chestnut was picked, it was possible to give each boy two chestnuts, with
none left over. How many boys were there altogether? Explain your reasoning.
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